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2. Mr. Kamau son and daughter néeded clothes: The son clothes were costing Ksh 324 while —-_—
the daughter clothes were costing Ksh 220. Mr Kamay wanted to give them equal amounts of
money. Caleulate the least arnount'of money he would spend on the tw d how many
clothes each will buy. Fali - ' (3 mks)
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' 4. A type of paper is 40cm long, 32 cm wide and 0.8 mm thick. The papetmsisﬁl 10 per m’.

Flnd the total cost of a pile of such paper of height 4.8m. (4 mks)
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- 5 A square based brass plate is 2mm high and has a mass of 1. 05kg The dens1ty of the brass s
i 8. 4 g/em Calculate the length of the plate in centlmeter T (3 mks)
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7. A salesman earns 3% commission for selling a chair and 4% commission for selling a table. -
A chair fetches K£ 75. One time, he sold ten more chairs than tables and earned seven
thousand, two hundred Kenya shiltings as commission. Find the number of tables and chairs
sold.

l (4 mks)
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8. Using the three quadratic 1dent1t1es only. factonse and 51mphfy _ (3 mksy™
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9. Two numbers are in the I‘atlo 3:5. When 4 is added to each the ratio becomes 2 : 3. Whatare. '
the numbers? . : _ S 3 mks) .
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10. Given that Sin (x * 4°) Cos (3x) Find tan (x + 400) t0 4 &.f (3 mks)

X""-{-O-l- 3x =z 90
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11.Ina rcgular polygon the exterlor angle is 1/3 of its supplement Find the number of suies of _
this polygon. ° = - e _ ' (3 mks) -
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12, Find the areaof a segment of a cncle whose arc subtends n angle of 22 1/2 on the. gy G
clrcumference of a cucle, radlus IOcm B e 3 mks) B L
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“13. An airplane leaves pomt A (60°S, 10°W) and travels due East for a distance of 960 nautical

miles to point B. determine the position of B and the time difference between points A and B.
(3 mks)
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14; Mr, Onyangb 5 piece of land is in a form of triangle whose dithensions are 1200M, 1800M
and 1500M respectively. Find the area of this land in ha. (Give, your ariswer to the nearest

whole number).

(3 mks)
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.15, Two inen each workmg for 8 hours a day can cultivate an acre of land in 4 days. How long
would 6 men, each working 4 hours a day take to cultrvate 4 acres? _ (3 mks)- -
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16 Fmd the equatlon ofa stralght llne whlch is perpendlcular to the hne 8x + Zy 3= 0 given -
that they mtersect aty=0 lcavmg youx answer ui ,doubie mtercept form - (3mks)
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- .. SECTION B

17. (a) Use the mid-ordinate rule to estlmate the area bounded by the curve y=x+ 3x7, the x-
axis, inesx =1 and x = 6. : : (4 mks)
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(b) Find the exact area of the regipn_in-:-(a) above, - . (3mks) = ;
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. (c) Calculate the percentage error 1n aréag,xifheg mid.-ordinate_ ruleis used, (3 mks)
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-~ 18. A car whose initial value is Ksh 600, 000 depremates at a rate of 12% p.a. Determine:
{a) Its value after 5 years. 4 mks)

A-rl-%

- (b) Its value of deprematlon after 5 years.

K«—Q"v Cé"ofé‘u*o —:3!@6%\.0) \/

= ksL 283380

k:& 3[(,(,10 = / ETERRIS T
jears. L Qoky

* (9) The number of year it will take for the valuie of thg car to be Ksh 300,000 (3 mks)
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21.

&

Three warships P, Q and R are at sea such that ship Q is 400 km on a bearing of N30° E from
ship P. ghip R is 750 km from ship Q and on a bearing of S60°E from ship Q. an enemy
warshifhis sighted 1000 km due south of ship Q.

(@) Usécale drawing to locate the position of ships P, Q, R and S. (4 mks)

(b} Find the compass bearing of: o e (2 mks)
G)  ShipPfromshipS N 13°W
Gi)  Ship SfromshipR = S 50"« v

(¢} Use scale drawing to determine: : )\/ (2 mks).
()  Thedistance of S romP & Rcwm x 100 = ©&OKrv 4 joKna.
(i) Thedistance of Rfrom S . € ¢m xloe  FEO Ke 2 1O Kinn o7

(d) Find the bearing of: : (2 mks)
@ QfomR 306 ov N o'WV R
1@ PEmQ 210 v S30°W.,  lae mef Jooke
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22 ’Iﬂ\ below shows the amount in shillings of pocket money given to studcnts ina
particulas school.

Q¢ %_laie  Reps D¢s AYPC g5¢€ 26ps 2308 p€pd RIS
y Pocket |201— |220— 230~ {240~ | 250 |260-— 276 - | 280~ 290 -
{1 money | 219 229 239 249 259 | 269 279 289 299
yakad (Kshs) | 14 jo o (& jo | re fo. {o fe.
=z No. of 5 | 13 23 .32, 26 20 - 15 12 4.
ﬁ7 Stu(;ents = . i . - . . i - 34302!!“
. YA 1050) 291885385 1Y | (17| 5290 [y il3-5.[ BH1% | TR e+ =
s Ny @ Stateffémr R B (1 mk) - .
2 4 : U :
gzt
e (b) Calculate the mean amount of pocket money given to these students to the nearest’
14 4. %7 shilling, : (4 mks)
s 5 3 F g% 5 :
4 o
5 i/u BITNE  sen
1 1;5 _ o g5 i
2 b ,/;-”"—"/
9. (c) Use the same axes to d:aw a hlstogram and a ﬁequency polygon on the gnd provlded.

(5 mkS)
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. 23. Given that points X (0,-2), Y (4, 2) and Z (x,6);
(2)- Write down the column vector xY. V (1mk) - |
— .
SRR Y (‘r) ( ) ( )
() ® (3mks)
—+
,K*I ‘ =
(@) Givéﬁ that |X7] = 1 1L3 170, find the coordinates of 7. (3 mks).
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' 24. A bus and a matatu left Voi from Mombasa, 240 km away at 8.00 am. They travelled at 90
_ Jon/h and 120 km/h respectively. After 20 minutes the matatu had a puncture which took 30
minutes to mend. It then continued with the journey.
(a2) How far from Voi did the catch up with the bus. {6 mks)

Bu.; ’)\’a\wt o( a O(lfwtmc.a br:#e«muc Jou(ww«, o "wa
29,90 = 3Jok- 75 - 40 ﬁBSKM\/

AF(‘ Bi)o R QQ/(OVt\.VQI Q{D‘L&:A = {2090

OK_G\O - Lf.SLt-‘

e } ) SR /iWL{_ ”‘0 CO\»‘LC,L\_ "l/u> = 35 -
6o _ e 35 23

:30 Lﬂ-

3‘01—9{-5 - :}SKM.), _ | Lo —f-t—/bxlio) :( I Se

Meokele = 120 x26 _ yok.. . ' :
. . . Go : o i .
{b) At-what time did the mataty catch up, with the bus? (2 mks)

. 20 + 30 4 JL,W lowms, 7= 2Lk
Zeo 4 ks = loy/
() At what tirne did the bud reach Mombasa? @ mks)
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